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13 (a) 0.08259(.….) 

 

(b) 8.26 × 10
–2

 

1 

 

2ft 

 

 

W1 for  their figs 826, i.e. to 3 sig figs  

(a) must have a minimum of 4 figures in order to 

qualify for this mark. 

or W1 ind for their (a) in standard form. 

14 (x) = 7, (y) = 3, www 3 M1 for multiplying and subtracting or adding as 

appropriate. 

(allow errors in arithmetic operations) 

or any other correct methods 

A1 for one correct variable. 

15 Rectangle width 1.5 cm. 

Rectangle width 1 cm. 

Accurately drawn cross-section piece 

1 

1 

1 

in a correct place 

in a correct place 

in a correct place 

16 ($)282.56(…) 3 M1 for 2500 × 1.055
2

 oe 2782(. ...) 

and M1 dep for subtracting 2500 

17 (a) D 

 

(b) E 

 

(c) G 

 

(d) F 

1 

 

1 

 

1 

 

1 

 

18 (a) Translation ⎟
⎠

⎞
⎜
⎝

⎛

− 6

7

 2 W1 cao for translation (allow poor spelling) 

or W1 independent for correct vector alone. 

 (b) Correct rotation 

 (4, 4), (5, 4), (5, 2) and (2, 4)
 

2 W1 for (2, 4) missed but other points correct 

or SC1 for 90 anti-clockwise rotation 

or SC1 correct rotation, any other centre 

19 (a) 98.1 or  

 98.13 to 98.14 

3 

 

M1 for 14 × 6 (+……) 

M1 ind for π × 3
2

 ÷ 2 

 (b) 19.6 or  

 19.62 to 19.63 

2ft M1 for their (a) × figs 2 

Figs 196…. implies M1 

20 (a) Two parallel straight lines 

 7 cm long and 4 cm from AB and 

two semicircular ends 4 cm from A 

and from B. 

 

(b) 391 or 

 391.3 to 391.4 

2 

 

 

 

 

3 

cao 

W1 for 2 correct lines or 2 semicircles. 

 

 

 

 

M1 for 2 × 70 soi 

and M1 ind for 2 × π × 40 

SC2 for answer of 39.1 or 39.13 to 39.14  
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14 (a) 17 

 

(b) √17 or 4.12(….) 

 

(c) 0.294 

1 

 

1 

 

1 

 

15 212.18 final answer cao 3 M2 for 200 × 1.03
2

 oe 

or M1 for (200 × 1.03) × 0.03 oe  

16 (a) 90 1  

 

(b) 45 1ft ft 

2

1

 (180 − their (a)) 

 (c) 45 1ft ft 90 − their (b) 

17 (a) (7 + 2) × 9 

 

(b) 36 ÷ (6 ÷ 2) = 12 

 

(c) 5 × (3 + 6) × 2 = 90 

1 

 

1 

 

1 

 

18 (a) (i) ⎟
⎠

⎞
⎜
⎝

⎛

5

4

 1 

 

 

 (ii) ⎟
⎠

⎞
⎜
⎝

⎛

− 2

2

 1 

 

 (b) (AC) + (CB) = (AB) 1  

19 (y =) −

3

1

x + 2 cao 3 B1 for gradient of  ±

3

1

 oe  

(Allow ±0.33 or better) 

B1 ind for mx + 2 where m ≠ 0. 

20 (a) (i) 4 1  

 

 (ii) 

5

4  oe 1 

 

 

 (iii) 

5

2

 oe 1 

 

 

(b) 

4

2

 oe 1 

 

21 (Mode =) 0 

(Median =) 2 

(Mean =) 2.7 

1 

1 

2 

 

 

M1 (0 + 0 + 0) + 1 + 2 + 2 + 4 + 4 + 5 + 9 
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11 

k

k

24

11

  final answer   www 

 

Method 1 (Addition first) 

  

B1 

12

8

+

12

3

  or  

12

38 +

  oe 

  M1 

12their2

11their1

×

×

 

  A1  

   Method 2 (Multiplication first) 

  

B1 

6

2

+

8

1

or 

3

1

+

8

1

  oe 

  M1 

bd

bcad +

for their 

d

c

b

a

+  

  A1  

  

 

If M0, SC1 if 

12

11

is only followed by

24

11

 

or if zero, SC1 if work is entirely in decimals 

with answer of 3 458.0
&
 to 45835.0  

12 (a) Correct ruled line  1  

 (b) −2.7,   0.7 1, 1ft B2ft their ruled line through (0, 3) for two 

intersections given to 1 decimal place 

or B1 for –2.70 to –2.75 and 0.70 to 0.75  

or B1ft their ruled line through (0, 3) for two 

intersections not given to 1 decimal place 

13 135   cao 3 M1 for 720 or (6 – 2) × 180   oe seen in working 

and M1 for equation 180 + 4x = their 720  

or  

M1 for (360 − 180) ÷ 4 (= 45)   oe seen in 

working 

and M1 dep for 180 − their 45 

14 (a) 9x − 10 final answer 2 B1 for 6x − 4 or 3x − 6 

or for answer of 9x + j, or kx − 10 

 (b) 2x
3

 – 3x final answer 2 B1 for answer in form 2x
3

 + m or n – 3x   

15 (a) Negative 1 Ignore embellishments 

 (b) Correct point 1  

 (c) (i) Accurate ruled line 1  

  (ii) English mark 1ft Follow through their (c)(i) 

16 (a) 70 2 B1 for angle ABD = 70° stated or seen on the 

diagram 

 (b) (i) (y =) 80 1  

  (ii) (z =) 40 1  

  (iii) (t =) 10 1ft Follow through 90 − their y or 50 − their z 
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13 (a) 5 cao 1  

 (b) 196 cao 1  

 (c) 97 cao 1  

14 (a) (0, 5) 1  

 (b) –2 1  

 (c) y = –2x + k 1 k ≠ 5 

15 (a) 26 1  

 

(b) 

10

3−c

 or 

10

3

−

− c

 oe final answer 

 
2 

 
M1 for one correct step of a two step method. 

16 74.1 or 74.137 to 74.140 3 M1 for 10 × 6 

and M1 for 0.5 × π × 3
2

 

17 [x =] 3, [y =] 4 3 M1 for correctly eliminating one variable 

A1 for [x =] 3  

A1 for [y =] 4  

If zero scored, SC1 for correct substitution and 

evaluation to find the other variable. 

18 (a) x
7

 1  

 (b) 5y
6

 2 B1 for 5y
m

 or ky
6

 in answer m ≠ 0, k ≠ 0 

19 (a) Ruled line from (0, 0) to (5, 22.5) 2 B1 for (5, 22.5) or (0, 0) at the ends of the ruled line. 

 (b) (i) 17.5 to 18.5 1FT FT their straight line 

  (ii) 3.3 to 3.4 1FT FT their straight line 

20 (a) Net completed 2 With one 2 by 5, one 3 by 5 and two 2 by 3 

rectangles correctly positioned 

B1 for 2 correct rectangles correctly positioned 

 (b) 30 

 cm
3

 

2 

1 

M1 for 3 × 2 × 5 

Independent mark 

21 (a) Angle bisector with correct arcs 2 B1 for correct line, with incorrect or no arcs or 

correct arcs with incorrect or no line 

 (b) Perpendicular bisector with two 

correct pairs of arcs 

2 B1 for correct line, with incorrect or no arcs or 

correct arcs with incorrect or no line 

 (c) Arc centre C, radius 7cm  

 Correct region shaded 

1 

1FT 

 

FT their arc centre C 
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12 2

12

1

   cao   with correct working 3 M1 (1+)

12

3

12

4

12

6

++  oe   A1  (1)

12

13

 or 

12

25

oe 

13 (x =) 3   (y =) –1   www 3 M1 for consistent multiply and consistent add/ 

subtract as appropriate 

Allow computational but not method errors 

Likely 5x + 4x = 17 + 10 

Other methods allowed 

A1 for correct x or y 

14 (a) 13 1  

 

 (Red)

60

19

  (Yellow)

60

13their

  oe 

1ft All needed for the mark 

isw cancelling or decimals after correct fractions 

seen 

 

 (Blue)

60

28

  oe 

  

 (b) Blue 1ft Strict ft their highest frequency 

15 11.3 3 M2 22 × 1.852 × 1000/3600   oe 

or M1 22 × figs 1852 or 22 × 1000/3600 

16 (a) Any multiple of 56 1  

 (b) (i) 3, 9, 27 (in any order) 2 B1 for 2 correct 

  (ii) 3   cao 1  

17 (a) y = −2 or y + 2 = 0 1  

 (b) (i) Ruled line parallel to B through 

(0, 2) 

1 Must at least go through (−1, –1)  

  (ii) (y =) 3x + 2   cao   final answer 2 B1 3x + j   j ≠ –1 or 2   or   kx + 2   k ≠ 3    

SC1 for 3x + 2 then spoiled by the final answer 

18 (a) 30 1  

 (b) (i) 12 2ft M1 for 360 ÷ their (a) 

(Any answer for (a) for method) 

Only ft for A1 if 360 ÷ their (a) is an integer 

Other methods allowed if complete 

  (ii) 150   cao 1  

19 (a) (i) (1, 5) 1  

  (ii) D at (5, 2) 1  

  (iii) Lines x = 3 and y = 3.5 only 

drawn 

1 Dep on (a)(ii) Extra line(s) zero 

Lines should at least meet the sides 

 (b) Kite   Trapezium 1, 1 1 mark for each 

20 (a) Petrol   cao 1  

 (b) 72 2 M1 for 360 × 12 ÷ 60 

 

(c) 

10

1

 2 B1

60

6

or

30

3

or

20

2

or 0.1 or 10% 
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6 (a) 

 

 (b) 

 

 

 

 (c) 

 

 (d) 

 

 (e) 

 

 

 (f) 

–1.5   –10   10   6   1.2 

 

14 points plotted accurately 

2 smooth correct curves 

No part across y-axis 

 

0.4 to 0.5 

 

−3   −1    1 

 

Ruled line from (−3, −3) to (3, 1) 

 

 

(−1.5,  −2)  and  (3,  1) 

3 

 

P3ft 

C1 

B1 

 

1 

 

2 

 

2 

 

 

1,  1 

B2 for 3 or 4 correct, B1 for 2 correct 

 

P2ft for 11, 12 or 13 points, P1ft for 8, 9 or 10 

 

Indep 

 

 

 

B1 for 2 correct 

 

SC1 for freehand or short ruled line – must meet 

curve twice or P1 for their 3 points plotted 

7 (a) 

 

 (b) 

−3 

 

8 

2 

 

2 

1 for correct substitution seen 

 

M1 for 37−5 =4d  oe 

 (c) 

4

aS −

 2 M1 for one correct step seen 

8 (a) 314.60 3 M1 for 

100

6.34275 ××

 or 39.6 

M1 dep for their interest added to 275 

 

 (b) 703.04 3 M2 for 650 × 1.04
2

   

or M1 for 650 × 1.04 oe  (implied by 676) 

and M1 dep for second year  

 

 (c) (i) 

 

  (ii) 

314.28 

 

627.55 or 627.54 

 

2 

 

3 

M1 for 400 × 0.7857 

 

M1 for  400 ÷ 0.6374 soi 

A1 627.54…, 628, 627.5 

B1 indep  for their visible  answer corrected 

to 2dp 

Penalise accuracy only once in the question 

9 (a) (i) 

 

  (ii) 

 

 (b) 

 

 

 (c) 

 

 

 (d) 

 

 (e) 

9 or 8.9 to 9.1 

 

53 – 55 

 

compass drawn circle centre C radius  

7 cm   

 

correct line drawn with angle BCX  = 

67° 

 

in range 9.3 – 9.9  

 

ruled accurate angle bisector of their 

CBX with 2 pairs of arcs 

1 

 

1 

 

2 

 

 

2ft 

 

 

1ft 

 

2ft 

 

 

 

 

SC1 incomplete accurate circle 

SC1 any complete circle centre C 

 

SC1 for BCX = 113°  or BCX = 67°   inside 

triangle or BCX = 67°, CX not = 7 

 

Strict ft from (c) 

 

SC1 if accurate but without arcs 

or M1 for 2 pairs of arcs 
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8 (a) y values −1, −2, −3, 3, 2, 1 3 W2  4 or 5 correct 

W1  2 or 3 correct   
 (b) 12 points plotted 

Two smooth correct curves 

No part across y axis 

P2ft 

C1 

B1 

P1ft for 10 or 11 ‘correct’. 

 

Independent  
 (c) 2 1   
 (d) (i) y = x ruled 1 At least 2 diagonal large (4×4) squares.  
  (ii) (4 to 4.5, 4 to 4.5) 

(−4 to −4.5, −4 to −4.5) 

2ft 1 mark for each point 

Ft from their intersections  
 (e) y = −x ruled 1ft Follow through reflection of their (d)(i) in the 

y axis.  
9 (a) (i) 3k + 4p − 7 final answer 2 W1 for any 2 correct terms seen or correct 

answer seen but spoiled by subsequent 

working.  
  (ii) x − 2y

2

 final answer 2 W1 for a correct term seen or correct answer 

seen but spoiled by subsequent working.  
 (b) (i) 12 + 21g final answer 1   
  (ii) 25m

3

 − 5mt
2

 final answer 2 W1 for one correct term  
10(a) (i) 9.43 art 2 M1 for 

22

58 +  oe or 89  

 
  (ii) 32 or 32.0 art 2 M1 for tan (A =) 5 ÷ 8 or better  
 (b) (i) Similar 1   
  (ii) Enlargement  

(SF) 2  

(Centre) A 

1 

1 

1 

W1 for each 

Independent 

Independent  
 (c) 9 and 11 2 W1 for 1 correct or diagram 5 two more than 

diagram 4.  
 (d) (i) 21 1  

  (ii) 2n + 1  oe 2 W1 for 2n + j seen or kn + 1 seen where k ≠ 0  
 (e) 23 2 M1 for 2n + 1 = 47 seen 

or their (d)(ii) = 47 seen 

SC1 for embedded answer  
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3 (a) 

 

 (b) 

 

 

 (c) 

 

3, 5, −1 

 

7 points plotted  

reasonable freehand curve 

 

−1.3, 2.3 strict ft their intercept with  

y = 2 

 

3 

 

P3ft 

C1 

 

2ft 

 

1 each 

 

P2 for 5 or 6 points, P1 for 3 or 4 points 

 

 

W1 for either 

 

 (d) (i) −7, −1, 5 2 W1 for 2 correct 

  (ii) Correct ruled line 

 

2 SC1 for freehand line, or ruled short line 

crossing curve twice 

Or their 3 points plotted 

  (iii) 

 

2 1 cao 

 (e) (−3, −7) and ( 2, 3) 2ft 1 for either 

4 (a) (x =) 7.5 

 

3 

 

W1 for correct bracket expansions 

M1ft for collecting their terms correctly 

 (b) (f = ) 

7

5+g

 2 M1 for one correct step seen 

 (c) )53(2 zxy −  2 W1 for )53(2 yzxy −  or )106( zxy −  or 

)(2 bzaxy +  where a and b are integers 

5 (a) Congruent 1 

 

cao 

 (b) 36° or 36.0
o

 art 

 

2 

M1 for tan angle = 

11

8

 

 

 (c) (i) 20 2 M1 for )35(5
2

1

+××  oe 

  (ii) 40 1ft ft is 2 × their (c)(i) 

 

 (d) 14 3 W1 for 6233 =+++++ xxxx  o.e.  

M1ft  for correct first step but must be from a 

linear equation kbax =+   


